fivama

ZERO-GAP WALL MOUNT

30kg

Quick Start Guide (ENGLISH) /

Guide De Démarrage Rapide (FRANGAIS) /
Hilfe Zur Inbetriebnahme (DEUTSCH) /
Guia De Inicio Rapido (SPANISH)

Magnet 4pcs M6*8 screw 2pcs  Magnetic pad 4pcs

g g

#4*30 screw expansion $5+60 screw 8pcs $5+60 screw expansion ¢4*30 screw 4pcs
plug 4pcs plug 8pcs

®3*12 screw 4pcs

A056A01

Lock the screws / Verrouillez les vis / Schrauben Sie die
Schrauben fest / Bloquee los tornillos

@3*12 Screw

M6*8 screws ( Back
N __\\

/

M6*8 screws

\\\\

AY
Backshell

Portrait

Installation / Installation / Installation / Instalacion

shell Cover

Round Slot

Safety Information

For using this product properly and safely, please follow the contents of the Installation and
Operation Manual to install. This wall mount can carry a maximum weight of 30KG.

Important safety information for both installer and user

Installer:

Before start the installation, read the safety information and the rest of this product
manual carefully. Failure to read, thoroughly understand, and follow all instructions can
result in serious personal injury, damage to equipment!

User:

Please carefully to read the safety information and user manual (if included) before using
the product to ensure a failure-free working unit and avoid accidents.

Mechanical Safety

Exceeding the weight capacity can result in serious personal injury or damage to equipment.

Itis the installer’s responsibility to make sure the total weight include accessories does not exceed the
maximum load of 66.1 Ibs / 30 kg. The installation, maintenance and un-installation of the product
should be handled by trained professional and skilled personnel.

1. At least two professionals are required to perform the installation.

2. The install position should be measured/specified by professional to ensure the strength can
support the weight of Larger Format Display and external forces. Do not install at decorative materials
or carbdboard, away from the children can reach.

3. Make sure the metal parts and screws are connected tightly to avoid falling off and personal injuries.
4. Avoid any gradient surfaces or ceiling installaitons to avoid accidents.

5. Avoid to install the wall mount in places where are within force electricity, strong magnetic, easily
cause noise and vibration, flammable gas leak, strong wind, moisture, high-temperature, or direct
strong light environments.

6. Avoid to install the wall mount in places with bad conditions, such as heavy smoke, strong wind,
moisture, high-temperature, or direct strong light environments.

7. Make sure the metal parts and screws are connected tightly, to prevent falling off and personal
injuries.

Use a level to mount the wall mount horizontally on the wall with
arrow facing up. / Utilisez un niveau pour monter le support mural
horizontalement sur le mur avec la fléche vers le haut. /
Verwenden Sie eine Wasserwaage, um die Wandhalterung
waagerecht an der Wand zu befestigen, mit dem Pfeil nach oben. /
Utilice un nivel para montar el soporte de pared horizontalmente
en la pared con la flecha hacia arriba.

@560 Screw
Expansion Plugs
N

Expansion Plugs\/ﬁ

~
~
~

N
@5*60 Screw

Informations De Sécurité

Pour utiliser ce produit correctement et en toute sécurité, veuillez suivre le contenu de ce
manuel. Ce support peut porter un poids maximum de 30 kg.

Informations de sécurité importantes pour l'installateur et I'utilisateur
Installateur:

Avant de commencer l'installation, veuillez lire attentivement les consignes de sécurité,
les régles de montage et le reste de ce manuel. Si vous ne lisez pas, ne comprenez pas
et ne suivez pas toutes les consignes de sécurité, vous risquez de vous blesser
gravement ou d'endommager I'équipement.

Utilisateur:

Veuillez lire attentivement les consignes de sécurité ci-dessous aussi que le manuel
utilisateur (siinclus) avant d'utiliser le produit pour garantir une unité de travail sans
défaillance et prévenir les risques d'accidents.

Sécurité Mécanique

Dépasser le poids maximal peut causer des blessures séveres ou des dommages matériels. Il est de
la responsabilité de I'installateur de s'assurer que le poids combiné de tous les accessoires et
équipements attachés au produit jusqu'a I'écran (inclus) ne dépasse pas 30 kg (66.1 Ibs). L'installation,
I'entretien et le retrait de 'équipement doivent étre effectués par un personnel

professionnel formé et qualifié.

1. Au moins deux professionnels sont nécessaires pour effectuer I'installation.

2. La position d'installation doit &tre mesurée/spécifiée par un professionnel pour garantir que la
résistance peut supporter le poids de I'écran de grand format et les forces externes. N'installez pas sur
des matériaux décoratifs ou du carton. L'installation doit se passer loin de la portée des enfants.

3. Assurez-vous que les pieces métalliques et les vis sont bien serrées pour éviter qu'elles ne tombent
et ne causent des blessures personnelles.

4. Evitez les surfaces inclinées ou les installations au plafond pour éviter les accidents.

5. Evitez d'installer le support mural dans des endroits ot il y a de I'électricité forcée, des champs
magnétiques forts, du bruit et des vibrations, des fuites de gaz inflammables, du vent fort,

de I'humidité, de la haute température ou de la lumiére directe forte.

6. Evitez d'installer le support mural dans des endroits avec de mauvaises conditions, tels que la
fumée épaisse, le vent fort, 'humidité, la haute température ou les environnements a forte lumiere
directe.

7. Assurez-vous que les pieces métalliques et les vis sont bien serrées, pour éviter les chutes et les
blessures personnelles.

Extend the wall mount to maximum and unlock the Safety buckle
to observe the alignment of display back cover screws and
bracket hook slots. / Etendez le support mural au maximum et
déverrouillez la boucle de sécurité pour observer I'alignement des
vis du capot arriére de I'écran et des fentes de crochet du
support. / Verlangern Sie die Wandhalterung bis zum Maximum
und entsperren Sie die Sicherheitsschnalle, um die Ausrichtung
der Schrauben der Display-Riickabdeckung und der Hakenslots
der Halterung zu beobachten. / Extienda el soporte de pared al
méaximo y desbloquee la hebilla de seguridad para observar la
alineacion de los tornillos de la cubierta trasera de la pantalla y
las ranuras de enganche del soporte.

Sicherheitsinformationen

Um dieses Produkt richtig und sicher zu verwenden, befolgen Sie bitte den Inhalt dieses
Handbuchs. Dieser Stander kann ein maximales Gewicht von 30 kg tragen.

Wichtige Sicherheitsinformationen fiir Installateure und Benutzer
Installateure:

Vor Beginn der Installation die Sicherheitshinweise, die Montagevorschriften und den
Rest dieses Produkthandbuchs sorgfaltig durch. Werden die Anweisungen nicht gelesen,
verstanden und befolgt, kann dies zu schweren Verletzungen oder Schaden am Geréat
fiihren!

Benutzer:

Bitte lesen Sie die folgenden Sicherheitsinformationen und die Bedienungsanleitung (falls
vorhanden) sorgféltig durch, bevor Sie das Produkt verwenden, um ein strungsfreies
Gerat zu gewahrleisten und Unfalle zu vermeiden.

Mechanische Sicherheit

Das Uberschreiten der Gewichtskapazitat kann zu schweren Personen- oder Sachschaden fiihren! Es
liegt in der Verantwortung des Installateurs, sicherzustellen, dass das Gesamtgewicht aller am Produkt
befestigten Zubehérteile und Gerate bis (einschlielich) zum Display, die maximale Belastung von
66.1 Ibs / 30 kg nicht liberschreitet. Die Installation, Wartung und Entsorgung der Ausristung sollte von
geschultem Personal und Fachkréften durchgefiihrt werden.

1. Firr die Installation sind mindestens zwei Fachkréfte erforderlich.

2. Die Installationsposition sollte von einem Fachmann gemessen/festgelegt werden, um
sicherzustellen, dass die Festigkeit das Gewicht des GroRformatdisplays und die duleren Kréfte
tragen kann. Nicht auf dekorativen Materialien oder Pappe installieren, auRerhalb der Reichweite von
Kindern.

3. Stellen Sie sicher, dass die Metallteile und Schrauben fest verbunden sind, um ein Herunterfallen
und persénliche Verletzungen zu vermeiden.

4. Vermeiden Sie geneigte Flachen oder Deckeninstallationen, um Unfélle zu vermeiden.

5. Vermeiden Sie es, die Wandhalterung an Orten zu installieren, an denen es zu Zwangsstrom,
starken Magnetfeldern, leichtem Larm und Vibrationen, brennbaren Gaslecks, starkem Wind,
Feuchtigkeit, hoher Temperatur oder direktem starkem Licht kommt.

6. Vermeiden Sie es, die Wandhalterung an Orten mit schlechten Bedingungen zu installieren, wie z.

B. starker Rauch, starker Wind, Feuchtigkeit, hohe Temperatur oder direkte starke Lichtumgebungen.
7. Stellen Sie sicher, dass die Metallteile und Schrauben fest verbunden sind, um ein Herunterfallen
und Verletzungen zu vermeiden.

Hang the M6 screws into wall mount recesses, press the Safety
buckle back, organize display cables into the alignment slots. /
Accrochez les vis M6 dans les creux du support mural, appuyez
sur la boucle de sécurité, organisez les cables de I'écran dans les
fentes d'alignement. / Hangen Sie die M6-Schrauben in die
Aussparungen der Wandhalterung ein,

Landscape

Informacion De Seguridad

Para utilizar este producto correctamente y de forma segura, siga el contenido del manual
de instalacion y funcionamiento para instalarlo. Este soporte de pared puede soportar un
peso maximo de 30 kg.

Informacion de seguridad importante tanto para el instalador como
para el usuario

Instalador:

Antes de empezar la instalacion, lea atentamente la informacién de seguridad y el resto
de este manual del producto. No leer, no entender o no seguir todas las instrucciones
puede provocar lesiones personales graves y dafiar el equipamiento.

Usuario:

Por favor, lea atentamente la informacion de seguridad y el manual de usuario (si se
incluye) antes de utilizar el producto para garantizar un funcionamiento sin fallos y evitar
accidentes.

Seguridad Mecanica

Superar la capacidad de peso puede provocar lesiones personales graves o dafiar el equipamiento.
Es responsabilidad del instalador asegurarse de que el peso total incluye los accesorios no supera la
carga maxima de 66,1 libras / 30 kg. La instalacion, el mantenimiento y la desinstalacion del producto
deben ser realizados por personal profesional y cualificado.

1. Se requieren al menos dos profesionales para realizar la instalacion.

2. La posicion de instalacion debe ser medida/especificada por un profesional para asegurar que la
resistencia pueda soportar el peso de la pantalla de gran formato y las fuerzas externas. No instale en
materiales decorativos o carton. Instale el producto lejos del alcance de los nifios.

3. Asegurese de que las piezas metalicas y los tornillos estén bien apretados para evitar que se
caigan y provoquen lesiones personales.

4. Evite las superficies inclinadas o las instalaciones en el techo para evitar accidentes.

5. Evite instalar el soporte de pared en lugares donde haya electricidad forzada, campos magnéticos
fuertes, ruido y vibraciones, fugas de gas inflamable, viento fuerte, humedad, alta temperatura o luz
directa fuerte.

6. Evite instalar el soporte de pared en lugares con malas condiciones, como humo espeso, viento
fuerte, humedad, alta temperatura o ambientes con luz directa fuerte.

7. Asegurese de que las piezas metélicas y los tornillos estén bien apretados, para evitar caidas y
lesiones personales.

driicken Sie die Sicherheitsschnalle zurtick, ordnen Sie die
Displaykabel in die Ausrichtungsschlitze ein. / Cuelgue los
tornillos M6 en los huecos del soporte de pared, presione la
hebilla de seguridad, organice los cables de la pantalla en las
ranuras de alineacion.

Portrait




